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Questions 16 to 30 carry 2 marks gach. Show your working clearly in the space below Do notwrite
each question and write your answaers in the spaces provided. For qusstions which a this space
require units, give your answers in the units stated. {30 marks)
.16, - What is-the.value of the digit-3in435812...: ., . :. -
B Answer :
17. Whatnumberis 100 more than 59 9987
Answer :
18.  Somie factors of 45 are 1, 3, 9 and 45. What are the other two factors of 45?
Answer : and
SCORE
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19.  Which two of the fractions below are equivalent to %? '

RIPRT AN

16 R

16 s . 4 3
24 ) 10 ' 6 ' 4
Answer : and
1 3
20. — =
0 2 10
Answer:
21, Write the decimal represented by D,
llli'lrllillllL
IIIIIIIII!I'!#'
0.4 T 0.5
) D

Answer :

22.  Arrange these numbers from the smallest to the greatest.

0.826 , 3.7 ' 0.307 , 0016

(smallest)

. (greatest)

Do not wrile
Inthds space



23. Find:the value of 3.74x 8. - ' Do not waite
. - In this space

Answer :

24.  ABCDis a reclangle. Find 2y.
A B .
Y
. 35
D C
Answer : o

25.  Inthe space below, draw £XYZ = 137°. The line YZ has been drawn for you.
Mark and labe! the angle,

, " sCoRE
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26. (a) The pattem in the box shows part of a tessellation. Shade a unit shapé of -Do not wille
fhe tessellation. : . I this spaca

{b) _. The pattern in the box shows part of a tessellation. - Extend the tessellation
" by drawing two more unit shapes in the space provided in the box.

SCORE
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27.  Complete the symmetric figure below so that liné PQ is the fine of symfn'etry..

28. Tha table shows the humb‘é}'bf .choéolate 'c.atkes' and mango cakes baked on 4

days of a week.
Tue 40 20
Wed 17 51
Thu 50 20
Fr 33 33

{a)  Onwhich day were there more mango than chocolate cakes-baked?

(b}  Onwhich day was the most number of cakes baked?

Answer : (a)

(b)

MA/ P4 ! SA2 12015
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20.  The table shows the scheduls of the show times ata bird park,

"""" R .
) 1000, 13 00 30 min
Patrols Paradise Show 10 45, 16 30 40 min
Wings of Asla Show 11 15, 14 30 45 min

World of Darkness Show

1200,16 15

ih

() Jimejwatched the Parots Paradise Show 2t 10 45. What fime did the
show end? Give your answer in 24-hour time,

(b}  Peter arrives at the bird park with his.clagsmates at 1.15 p.m. The bus will

pick them up at 5 p.m. What show can Peter watch from the slart

fo the end?

Answer :

(a)

(b)

307 The graph Below/ shows tha amount of money collected from the sale of T-shirts

for 5 days.

480

400

320

Amount

money

collected 160

(%)
: 80

0

Mon

If each T-shirt was sold for $4, how man

Tue - Wed

Friday than on Wednesday?

Answer :

Thu

Fri

y more T-shirls were sold on

Do notwiit
i this gpac



For questions 31 to 40, show your vﬁoddng clearly and write your answers in the spaces

provided. The number of marks avallable is shown in brackeis { | at the end-of each-
questfion or part-question. Cee {40 marks)
3% Abaker baked 5640 farts. He packed all the tarts into boxes of 6 and sold them
at $12 per box. The baker sold 543 boxes of tarts.
(@)  How many boxes of taris did the baker pack? .
. (b). .~ How miuch frioney was collected from the-sale of the tarts? e
Answer:.(a) . B
(b) i2]
SCORE

Do not write
Inthis space -
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e

'32.  Mr Bala had 56 guppies. He gave —1— of them to his friend and g of them to his
- neighbour. He kept the rest of the guppies for himself.
. (é)_.-.- | How ﬁény guppies did he give'avéayaimgemér?

(b) What fraction of the guppies did he keep for himself?

Answer: (3) __ [3]
() _ 1]
* SCORE
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33 The graph below shows the number of adults who passed the driving testin.6 Da notwita
months. _ ) -| in this space

70

60 =

50 \\ I N

Nun.'ib'er ] \ 1 A . N A

- of adults 40—’_ S \\ '-,Z..-_.- BN N T AT
I ) N S A at '

20 —y

10
o f

Jul Aug Sep Oct Nov Pec
Months

(a) Between which two months was the increase in"the number of adults who
passed the driving test the greatest?

(b) 28 women passed the driving test in July
_ How many men passed the dri\nng testin July’?

{c) How many adults passed the driving test from September to November?

Answer : (a)- ang 11 T.-
by [1]
{c) _- 2}
SCORE
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34.  Three Jugs, A, B and C, contain a total of 73. 2 € of water. .Jug A contains 3.7 Lof | 0o qot\:wﬁe
water more than Jug B, Jug B contains 2.8 £ of water more than Jug C. T this space
Whai is the volume of water n Jug B?

Answer : [4]

_ . o SCORE
-MATP4/5A212015 - Page 10 of 16 " . -(Goontothe next page)
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.35, David bought 2 idenfical boxes of colour péﬁci_ls and 5 identical noteooks fora- | Donotwsite
total of $45. A box of colour penclls cost $13.50. in ths space

(a)  Find the.cost of the 2 boxes of colour pencils. _

(b)  How much did David pay for each notebook?

_Answer: (a) [1]
(b) [3]
o SCORE
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‘A carlun packed with 1 packet of rice weighs 5.62 kg. The samo carfon when
packed with 4 such packets of rice weighs 21.43 kg. .

(@) Find the mass of 1 packel of riceinkg, - -

(b)  Find the mass of the empty carton in kg.

Ansv;‘rer :(a) 2
(b) 2]

Do notwrite

"} Wtis spate

SCORE




37.  Ashop had 30 vivlins and some Quitaré. During a sale, % of the viol;:ns and

—;~ of the guitars'were sold. 64 guitars were left unsold,

(a) How manj violins were sold?

(b) How many violins and guitars were sold altogether?

. Answer: (a) _. M
(b} ' [?l .
E SCORE
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38.  The figure is made up of 2 rectangles. The area of the figure is 126 cm?.

(a)- Whatls the length BC? |

" b} Whatis the area of rectangle CDEF?

18 cm
C D
docm
G F E

Answer : (a)

2

(1
(3}

Do m;l viite
In s space




39.  Aloysius and Song Kai had a tofal of 174 cards at first. After Aloysius bought 23 p«':gmzmte
more cards and Song Kai gave away 17 cards, Aloysius now has the same miisspace
number of cards as Song Kal. How many cards did Aloysius have at first?

Aﬁswer S , 4]

SCORE
MA /P4 18A2 12015 Page 150f 18 . {Go onlo tha next page)




40, Nai Ling created a number pattemn és_s,hdﬁrﬁ below. L _ Do fot wile
L ST e ‘ - | Inthis spaca

(a) What numbér can be found In Row 26, Column Q7

{b)  In which row will the number 284 bs found?

Answer : (a) [2]
() e 12
End of Paper
Setby : MsJoyco Tan andMrs Eileen Sew ' _ SCORE
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16) 3000

17) 59 998 + 100 = 60098
18) 5 and 15

' 19) 4/16 and 16/24
20)1/2 -3/10=2/10

21) 0.48

22) 0.016, 0.307, 0.826, 3.7
23)3.78 x 8 = 29.92

24) 96 — 35 = 55°
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27)

28) a) Wednesday

b) Thursday

29) a) 11 25
b) Wings of Asia
30) $440 = 4 = 110
$320 =4 =80
110 - 80 = 30
31) a) 5640 + 6 = 940

b) 543 x 12 = $6516



38)a)18-3=15
b) 126 — 90 = 36
39)174 +23 = 197
' 197-17=180
180+ 2 =90
© 90-23=67
40)a)30x 5 = 150
150 -1 = 149
b) 284 + 1 = 285
os5i5es7

57-4=53



.32ﬁﬂ56+8=f
C Tx7=43
b)2/8+5/8=7/8
8/8-7/8=1/8
33) a) Nov and Dec
m&-ﬁ;g
) 45 + 55 + 30 = 130
34)73.2-2.8—-2.8—3.7=63.9
'“'519;3=213”"
21.3+2.8=24.1
émay350x2=gz
b) 45—27 = 18
18+5=3.6
' 36)a) 15.81 + 3 = 5.27kg
b} 5.62 ~ 5.27 = 0.35kg
37)a)30+3=10
b)64 + 4 = 16

16+ 10 =26
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